SEHAFHAMRE  $255 1989

AUTUMN (NH) U (50 N)
120E 150E 180 150NW 1 20W 90N

500 500

1000 000

120E 150E 180 150W 120W 90W
CONTOUR INTERVAL = 1.0 CM/S

3.4.101 BXFIIBIF L HEHEEAERS (U) OEFRESA (50°N)

AUTUMN (NH) U (40 NO
120E 150E 180 150K 120W 90W

N U

500 500

1000

150 160 1500 120W 90W
CONTOUR INTERVAL = 1.0 CM/S

1205
X 3.4.102 BFICBIT A HEHENE S (U) OEBRIES A (40°N)
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K[BEWATBMRE $255 1989

AUTUMN (NH) U (30 N)
I20E,  1SOE 180 150W  120W  9OW

500 500

1000 1000

120E 150E 180 150W 120K S0KW
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.103 F*FICBIT L -MEFEEARS (U) OEBRESA (30°N)

AUTUMN (NH) u (20 N)
120E 1S0E 180 150K 120W S0W

500 -500

1000 -1000

|

120€ 150E 180 150W  120W g0M
CONTBUR INTERVAL = 1.0 CM/S

X 3.4.104 BHFITBIHHBEHEIERS (U) OREHIEST (20°N)
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SEERIHMEE #2555 1989

AUTUMN (NH) u (1 N

120E 150€ 18 150W 120K 90W
A = AN NJ AR 0

500

1000 1000

120E 1S0E 180 150W 1 20W S0W
CONTOUR INTERVAL = 1.0 CM/S

3.4.105 FKFITBIFHMEHEFEES (U) OEBGEESA (10°N)

AUTUMN (NH) u 5 N
120E 150E 180 15S0W 120W 90W
) I { N

1000 1000

£ : A-i% BB
120F 150E 180 1500 1204 30w
CONTBUR INTERVAL = 1.0 CM/S

3.4.106 FXFIZ BT HMEREF RS (U) ORBGETEHS A (5°N)
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SEWMEFBRHBE  H255 1989

SPRING (SH) Uy (1o s)
0 120E 150E 180 1S0NW 120W 90W 0
y
500
1000

1206 150 180 1S0W 120K  90W
CONTOUR INTERVAL = 1.0 CM/S

3.4.107 #£Z (B BT AHERERERS (U) OERGIESME (10°S)

1000

1000+

U206 1S0E . 180 150W | 120U 90K
CONTOUR INTERVAL = 1.0 CM/S

& 3.4.108 #F (B B LBEREMES (U) OREEES /M (20°S)

— 446 —



KEREFHMRE  $25% 1989

SPRING (SH) U (30 S)
120E  1S0E 180  1S0W  120W_ 9OW
\%

WA

500+

1000+

120E 1S0EF 180 1SOW 120N S0M
CONTOUR INTERVAL = 1.0 CM/S

€ 3.4.109 #F (B3I 2B AHEREEES (U) OEBRESA (30°S)

SPRING (SH) U o 3s)

_120E_ 1SDE 180 ISOW . 120W . 90MW

500 500

1000 000

120E 150€ 180 150W 120K 90KW
CONTQUR INTERVAL = 1.0 CM/S

M 3.4.110 #%F (B B HBEWRARS (U) OREWTEST (40°S)
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SEBIERTHE Y H25% 1989

SPRING (SH) U (50 S)
_ISO0E. 180 . 150W
AVERS

p

120E, _120W . 90H

500 500

1000+ 1000

120E 1506 180 1S0W  120MW
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.111 FF (FEFIK) KB LHEREERS U) ORBEHESA (50°S)

SPRING (SH) U (60 S)
1206, 1SOE 180 _  150W_  120W  9OMW

Qﬁ/ —— 0

S00H r500

1000+ r1000

§<

a3

T

1206 1S0E 180  150W  120W  9OW
CONTBUR INTERVAL = 1.0 CM/S

K 3.4.112 FF (BEHK) BT HMREEKS (U) OR‘RIES A (60°S)





